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7) Sandra’s triangle-shaped vegetable garden has a base of 8.6 yards and two equal sides
measuring 4.7 yards each. What is the area?

Jordan always uses a hand fan to stay cool in the heatwave. The base of the triangle-shaped
fan is 8.8 inches. What is the area if the two equal sides measure 7.3 inches each?

a) 108.1 in2 b) 165.3 in2 c) 123.5 in2

4)

5)

a) 163.65 yd2 b) 166.77 yd2 c) 153.25 yd2

Which of the following is the area of the Isosceles triangle?4)

5) Which of the following is the area of the Isosceles triangle?

Area of Isosceles Triangles | Decimals 

Find the area of each isosceles triangle. Round your answer to two 

decimal places.
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